Equal 9 step grey scaling betweeb* gn=21 & L*gaw=107.2,Yge=120, normalisation whiteW

L*0ane21.3,L%0a=64.3,L* 0aw=107.3,Y0an=3-3. Y0a=33.2, Y0an=120.0,Coav=Yoaw: Yoan=36.0
L*tan=82.7,L*12=90.1,L*1aw=107.3,Y;an=61.7, Ya=76.6, Yian=120.0,Cray=Yiaw: Yian=1.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 BL* min] / [AL* max], L* cleLaBw = 116 [Y/Yp]Y/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 9%= 25, g%= 19 g%= 56, g5= 41
L* cieLaB,w intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1223 *a Al*la
120+ '
(D9 1073 10 1200 10 107.351 1.0 1200 1.0 107.3
9ol 8 95 0875 913 0.754 102.14'6 0.791 1056 0.9 104.8 ”s
7 88 075 675 055 975 4'0 0.603 93.8  0.798 102.3 2'6
6 750 0625 483 0.386 935 3'4 044 842 0692 99.7 2'6
1 @5 643 05 332 0256 901 0.301 76.6  0.584 971
co+ @ : 2.7 2.7
@+ 535 0375 215 0156 87.421 0.189 70.8  0.474 94.4 be
@3 428 025 130 0083 852 1'5 0.103 665  0.361 91.6 3'0
1 @2 321 0125 7.1 0032 837 0.041 635  0.238 88.6
30+ @ 2 87, 58
@: 223 00 33 00 87 00 617 00 82.7
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*o = = i normalisation: Yigiw=Yoaw2ai 0ref
AL*0=107  (=12,..8) taiw =Yoawy 2 SOl
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